DIAGONAL FUNCTIONS OF THE k-PELL AND k-PELL-LUCAS POLYNOMIALS AND SOME IDENTITIES

P. CATARINO

ABSTRACT. In this paper, rising and descending diagonal functions of k-Pell and the k-Pell-Lucas polynomials are introduced and generating functions is provided. Some identities are also studied.

1. Introduction

Pell and Pell-Lucas sequences are integer sequences that have been studied by several authors and constructed with the same recurrence relation but different initial conditions. Namely, for $n \geq 2$, the Pell numbers $\{P_n\}$ satisfy the recurrence relation

$$P_n = 2P_{n-1} + P_{n-2}, \quad P_0 = 0, \quad P_1 = 1,$$

whereas the Pell-Lucas numbers $\{Q_n\}$ satisfy the recurrence relation

$$Q_n = 2Q_{n-1} + Q_{n-2}, \quad Q_0 = 2, \quad Q_1 = 2.$$

For more details about these sequences, see, for example, [2], [6], [8], [10], [12], [15], and [16], among others.

In the literature, we find several studies involving generalizations of these sequences, such as for positive real number k, the case of the k-Pell sequences and k-Pell-Lucas sequences, (see, for example, [3], [4], [5], [18], and [17], among others). Such sequences have the same recurrence relation but different initial conditions. The k-Pell sequences $\{P_{k,n}\}$ are defined by

(1)
$$P_{k,n} = 2P_{k,n-1} + kP_{k,n-2}, \quad P_{k,0} = 0, \quad P_{k,1} = 1,$$

whereas the k-Pell-Lucas sequences $\{Q_{k,n}\}$ satisfy the recurrence relation

(2)
$$Q_{k,n} = 2Q_{k,n-1} + kQ_{k,n-2}, \quad Q_{k,0} = 2, \quad Q_{k,1} = 2.$$

The polynomials that can be defined by Fibonacci-like recursion relations are called Fibonacci polynomials and they were studied in 1883 by E. C. Catalan and E. Jacobsthal. For example, E. C. Catalan studied the polynomials $F_n(x)$ defined

Received June 4, 2017.

²⁰¹⁰ Mathematics Subject Classification. Primary 11B39, 11B83.

Key words and phrases. Pell polynomials; Pell-Lucas polynomials; Rising Diagonal function; Descending Diagonal function; Generating function.

by the recurrence relation

(3)
$$F_n(x) = xF_{n-1}(x) + F_{n-2}(x), \quad n \ge 3, \qquad F_1(x) = 1, \quad F_2(x) = x.$$

In 1965, V. E. Hoggatt [11], introduced Lucas polynomials defined by the recurrence relation

(4)
$$L_{n+1}(x) = xL_n(x) + L_{n-1}(x), \quad n \ge 1, \qquad L_0(x) = 2, \quad L_1(x) = x.$$

Several authors have dedicated their research to polynomials of different type of sequences such as the work of S. Arolkar and Y.S. Valaulikar in [1], where the authors study the h(x)-B-Tribonacci and h(x)-B-Tri Lucas Polynomials whenever h(x) is a polynomial with real coefficients. Also in [14], some properties of the (p,q)-Fibonacci and (p,q)-Lucas polynomials are provided and in [7], the study of Pell polynomials modulo m is stated.

Pell numbers and PellLucas numbers are specific values of Pell polynomials $P_n(x)$ and Pell-Lucas polynomials $Q_n(x)$, respectively. Both families were studied extensively in 1985 by A.F. Horadam and J. M. Mahon in [13], where the authors recorded some properties of these polynomials. The first few terms of these sequences $\{P_n(x)\}$ and $\{Q_n(x)\}$ are

n	$P_n(x)$	$Q_n(x)$
n = 0	0	2
n=1	1	2x
n=2	2x	$4x^2 + 2$
n=3	$4x^2 + 1$	$8x^3 + 6x$
n=4	$8x^3 + 4x$	$16x^4 + 16x^2 + 2$
n=5	$16x^4 + 12x^2 + 1$	$32x^5 + 40x^3 + 10x$
n=6	$32x^5 + 32x^3 + 6x$	$64x^6 + 96x^4 + 36x^2 + 2$
n=7	$64x^6 + 80x^4 + 24x^2 + 1$	$128x^7 + 224x^5 + 112x^3 + 14x$

Table 1. The Pell and Pell-Lucas polynomials for $0 \le n \le 7$.

Also in [15], we have more details about these polynomials. Recall that the Pell and Pell-Lucas polynomials, respectively, are defined by

(5)
$$P_{n+2}(x) = 2xP_{n+1}(x) + P_n(x), \quad P_0(x) = 0, \quad P_1(x) = 1$$

and

(6)
$$Q_{n+2}(x) = 2xQ_{n+1}(x) + Q_n(x), \quad Q_0(x) = 2, \quad Q_1(x) = 2x.$$

Note that $P_n(1) = P_n$, $Q_n(1) = Q_n$, $P_n(\frac{1}{2}) = F_n$, $Q_n(\frac{1}{2}) = L_n$, where P_n , Q_n , F_n , and L_n are the *n*th Pell, Pell-Lucas, Fibonacci and Lucas numbers, respectively.

Furthermore, $P_n(\frac{1}{2}x) = F_n(x)$, $Q_n(\frac{1}{2}x) = L_n(x)$, where $F_n(x)$ and $L_n(x)$, respectively, are the *n*th Fibonacci and Lucas polynomials (see, [13]).

The diagonal function of k-Lucas polynomials and Lucas polynomials were introduced in [9]. Also, in the same paper, the authors an established rising and descending diagonal function and generating matrix of k-Lucas polynomials and Lucas polynomials.

In this paper, we introduce the k-Pell and k-Pell-Lucas polynomials and consider rising and descending diagonal functions of these polynomials. Furthermore, some properties and generating functions of these polynomials are provided.

2. The k-Pell and k-Pell-Lucas polynomials

In this section, we consider a new class of polynomials and provide some of its properties. For any positive real number k, k-Pell numbers and k-Pell-Lucas numbers are specific values of the k-Pell polynomials $P_{k,n}(x)$ and k-Pell-Lucas polynomials $Q_{k,n}(x)$, respectively. Both families are defined recursively by

(7)
$$P_{k,n+2}(x) = 2xP_{k,n+1}(x) + kP_{k,n}(x), P_{k,0}(x) = 0, P_{k,1}(x) = 1$$
 and

(8)
$$Q_{k,n+2}(x) = 2xQ_{k,n+1}(x) + kQ_{k,n}(x), \quad Q_{k,0}(x) = 2, \quad Q_{k,1}(x) = 2x.$$

The first few terms of these sequences $\{P_{k,n}(x)\}$ and $\{Q_{k,n}(x)\}$ are as follows

n	$P_{k,n}(x)$	$Q_{k,n}(x)$
n = 0	0	2
n = 1	1	2x
n=2	2x	$4x^2 + 2k$
n = 3	$4x^2 + k$	$8x^3 + 6xk$
n=4	$8x^3 + 4xk$	$16x^4 + 16x^2k + 2k^2$
n = 5	$16x^4 + 12x^2k + k^2$	$32x^5 + 40x^3k + 10xk^2$
n=6	$32x^5 + 32x^3k + 6xk^2$	$64x^6 + 96x^4k + 36x^2k^2 + 2k^3$
n = 7	$64x^6 + 80x^4k + 24x^2k^2 + k^3$	$128x^7 + 224x^5k + 112x^3k^2 + 14xk^3$

Table 2. The k-Pell and k-Pell-Lucas polynomials for $0 \le n \le 7$.

For the particular case of k=1, we get the Pell and Pell-Lucas polynomials referred before.

The next result states the Binet-style formula for each one of these polynomial sequences.

Theorem 2.1 (The Binet-style formula). For $n \geq 0$ and any positive real number k, we have

- 1. $P_{k,n}(x) = \frac{(r_1)^n (r_2)^n}{r_1 r_2},$ 2. $Q_{k,n}(x) = (r_1)^n + (r_2)^n,$

where $r_1 = x + \sqrt{x^2 + k}$, $r_2 = x - \sqrt{x^2 + k}$ are the roots of the characteristic equation $\lambda^2 - 2x\lambda - k = 0$ associated with the recurrence relations (7) and (8).

Proof. 1. Since the characteristic equation has two distinct roots, the sequence

(9)
$$P_{k,n}(x) = c(r_1)^n + d(r_2)^n$$

is the solution of the equation (7). For n = 0, 1 in (9) and solving this system of linear equations, we obtain a unique value for c and d, which are, in this case, $c=\frac{1}{r_1-r_2}$ and $d=\frac{1}{r_2-r_1}$. So, using these values in (9) and performing some calculations, we get the required result.

2. In a similar way, easily we get the second Binet-style formula.

Next, we present some identities related with this type of polynomial sequences. As a consequence of the Binet formula of Theorem 2.1 for these sequences, we get the following interesting identities.

Proposition 1 (Catalan's identities). For n and s, nonnegative integer numbers, such that $s \leq n$, and for any positive real number k, the Catalan identities for the k-Pell and k-Pell-Lucas polynomials are given by

$$P_{k,n-s}(x)P_{k,n+s}(x) - (P_{k,n}(x))^2 = (-1)^{n+1-s}k^{n-s}(P_{k,s}(x))^2$$

and

$$Q_{k,n-s}(x)Q_{k,n+s}(x) - (Q_{k,n}(x))^2 = (-k)^{n-s} \left((Q_{k,s}(x))^2 - 4(-k)^s \right),$$

respectively.

Proof. Using the Binet formulae in Theorem 2.1 and the fact that $r_1r_2 = -k$, we get the required results for both cases.

Note that considering Catalan's identity, in particular, the case of s=1, we get the Cassini identity for the k-Pell and k-Pell-Lucas polynomial sequences. In fact, for s = 1, the identity stated in Proposition 1 yields for both cases

$$P_{k,n-1}(x)P_{k,n+1}(x) - (P_{k,n}(x))^2 = (-1)^n k^{n-1} (P_{k,1}(x))^2$$

$$Q_{k,n-1}(x)Q_{k,n+1}(x) - (Q_{k,n}(x))^2 = (-k)^{n-1} ((Q_{k,1}(x))^2 - 4(-k)).$$

Using one of the initial conditions of each polynomial sequence, we obtain the following result.

Proposition 2 (Cassini's identities). For a natural number n and any positive real number k, if $P_{k,n}(x)$ and $Q_{k,n}(x)$, respectively, are the nth k-Pell and k-Pell-Lucas polynomials, then the following identities are true:

1.
$$P_{k,n-1}(x)P_{k,n+1}(x) - (P_{k,n}(x))^2 = (-1)^n k^{n-1}$$
,

2.
$$Q_{k,n-1}(x)Q_{k,n+1}(x) - (Q_{k,n}(x))^2 = 4(-k)^{n-1}(x^2+k)$$
.

The d'Ocagne identities can also be obtained using the Binet formulae of Theorem 2.1, and in this case, we obtain the following propositions.

Proposition 3 (d'Ocagne's identities). For some natural numbers m, n and any positive real number k, if m > n and $P_{k,n}(x)$, and $Q_{k,n}(x)$, respectively, are the nth k-Pell and k-Pell-Lucas polynomials, then the d'Ocagne identities for $P_{k,n}(x)$ and for $Q_{k,n}(x)$, are given by

$$P_{k,m+1}(x)P_{k,n}(x) - P_{k,m}(x)P_{k,n+1}(x) = (-1)^{n+1}k^n P_{k,m-n}(x)$$

and

$$\begin{aligned} Q_{k,m+1}(x)Q_{k,n}(x) - Q_{k,m}(x)Q_{k,n+1}(x) \\ &= (-1)^n k^n 2\sqrt{x^2 + k} \left(Q_{k,m-n}(x) - 2\left(x - \sqrt{x^2 + k}\right)^{m-n} \right), \end{aligned}$$

respectively.

Proof. Once more, using the Binet Formulae of Theorem 2.1, and the fact that $r_1r_2 = -k$, $r_1 - r_2 = 2\sqrt{x^2 + k}$, we get the required results.

The next identity is a consequence of Catalan's identity established in Proposition 1.

Proposition 4. For a natural number n and any positive real number k, the Gelin-Cesàro identities for $P_{k,n}(x)$ and for $Q_{k,n}(x)$, are given by

$$P_{k,n-2}(x)P_{k,n-1}(x)P_{k,n+1}(x)P_{k,n+2}(x) - (P_{k,n}(x))^4$$

$$= (-1)^n k^{n-2} \left(4x^2 (-1)^{n-1} k^{n-1} + (k - 4x^2) \left(P_{k,n}(x) \right)^2 \right)$$

and

$$Q_{k,n-2}(x)Q_{k,n-1}(x)Q_{k,n+1}(x)Q_{k,n+2}(x) - (Q_{k,n}(x))^4$$

$$=4(-k)^{n-1}(x^2+k)\left(16x^2(-k)^{n-2}(x^2+k)+\left(1+(-k)^{-1}4x^2\right)(Q_{k,n}(x))^2\right),$$

respectively.

Proof. Using the first identity of Proposition 1, we have for s = 1 and s = 2,

$$P_{k,n-1}(x)P_{k,n+1}(x) - (P_{k,n}(x))^2 = (-1)^n k^{n-1} (P_{k,1}(x))^2$$

and

$$P_{k,n-2}(x)P_{k,n+2}(x) - (P_{k,n}(x))^2 = (-1)^{n-1}k^{n-2}(P_{k,2}(x))^2$$
.

Now, by the initial conditions, we have

$$P_{k,n-1}(x)P_{k,n+1}(x) - (P_{k,n}(x))^2 = (-1)^n k^{n-1}$$

and

$$P_{k,n-2}(x)P_{k,n+2}(x) - (P_{k,n}(x))^2 = (-1)^{n-1}k^{n-2}(2x)^2$$
.

These identities are equivalent to

$$P_{k,n-1}(x)P_{k,n+1}(x) = (-1)^n k^{n-1} + (P_{k,n}(x))^2$$

and

$$P_{k,n-2}(x)P_{k,n+2}(x) = (-1)^{n-1}k^{n-2}4x^2 + (P_{k,n}(x))^2,$$

respectively.

Therefore, multiplying both sides of these identities, we obtain $P_{k,n-1}(x)P_{k,n+1}(x)P_{k,n-2}(x)P_{k,n+2}(x)$

$$= \left((-1)^n k^{n-1} + \left(P_{k,n}(x) \right)^2 \right) \left((-1)^{n-1} k^{n-2} 4x^2 + \left(P_{k,n}(x) \right)^2 \right)$$

$$=4x^{2}(-1)^{2n-1}k^{2n-3}+\left((-1)^{n}k^{n-1}+4x^{2}(-1)^{n-1}k^{n-2}\right)\left(P_{k,n}(x)\right)^{2}+\left(P_{k,n}(x)\right)^{4},$$

and then the result follows.

For the Gelin-Cesàro identity for $Q_{k,n}(x)$, a similar way can be used in the proof.

The next result establishes relation between both sequences of polynomials.

Proposition 5. For any positive real number k and a non negative integer n, if $P_{k,n}(x)$ and $Q_{k,n}(x)$ are the nth term of the k-Pell and k-Pell-Lucas polynomials, then

$$P_{k,n+1}(x) + kP_{k,n-1}(x) = Q_{k,n}(x).$$

Proof. Using the Binet formulas of the k-Pell and k-Pell-Lucas polynomials and the fact that $\frac{1}{r_1}=-\frac{r_2}{k}$ and $\frac{1}{r_2}=-\frac{r_1}{k}$, we have

$$P_{k,n+1}(x) + kP_{k,n-1}(x) = \frac{(r_1)^{n+1} - (r_2)^{n+1} + k(r_1)^{n-1} - k(r_2)^{n-1}}{r_1 - r_2}$$

$$=\frac{(r_1)^n\left(r_1+\frac{k}{r_1}\right)+(r_2)^n\left(-r_2-\frac{k}{r_2}\right)}{r_1-r_2},$$

and finally, performing some calculations, we get the required result.

3. Rising Diagonal function for the k-Pell and k-Pell-Lucas polynomials

This section aims to set out the Rising Diagonal function for k-Pell and k-Pell-Lucas polynomials and some elementary results.

Consider the Rising Diagonal functions $R_i(x,k)$ and $r_i(x,k)$, $0 \le i$, for the k-Pell and k-Pell-Lucas polynomials, respectively, stated in Table 3.

n	$R_n(x,k)$	$r_n(x,k)$
n = 0	0	2
n=1	1	2x
n=2	2x	$4x^2$
n=3	$4x^2$	$8x^3 + 2k$
n=4	$8x^3 + k$	$16x^4 + 6xk$
n=5	$16x^4 + 4xk$	$32x^5 + 16x^2k$
n=6	$32x^5 + 12x^2k$	$64x^6 + 40x^3k + 2k^2$
n=7	$64x^6 + 32x^3k + k^2$	$128x^7 + 96x^4k + 10xk^2$

Table 3. The Rising Diagonal functions for the k-Pell and k-Pell-Lucas polynomials for $0 \le n \le 7$.

Observe that in Table 3, for $n \geq 3$,

(10)
$$r_{n-1}(x,k) = R_n(x,k) + kR_{n-3}(x,k),$$

(11)
$$r_n(x,k) = 2xr_{n-1}(x,k) + kr_{n-3}(x,k),$$

(12)
$$R_n(x,k) = 2xR_{n-1}(x,k) + kR_{n-3}(x,k).$$

Next, we give the generating functions for these Rising Diagonal polynomials. We write each type of sequences of polynomials as a power series where each term of the sequence correspond to coefficients of the series, and from that fact, we find the generating function. Let f(x,k,t) and g(x,k,t) be the generating functions of the Rising Diagonal polynomials corresponding to the k-Pell and k-Pell-Lucas polynomials, respectively. By definition of the generating function of some sequences, we have

(13)
$$f(x,k,t) = \sum_{i=1}^{\infty} R_i(x,k)t^i$$

and

(14)
$$g(x,k,t) = \sum_{i=1}^{\infty} r_i(x,k)t^i.$$

Theorem 3.1. The generating functions for the Rising Diagonal polynomials $\{R_i(x,k)\}$ and $\{r_i(x,k)\}$, respectively, are

1.
$$f(x,k,t) = \frac{t}{1 - 2xt - kt^3}$$

2.
$$g(x,k,t) = \frac{2(1-xt)}{1-2xt-kt^3}$$

Proof. 1. For the $\{R_i(x,k)\}$ sequences, by taking into account (12) and the values of $R_1(x,k)$ and $R_2(x,k)$, we have

$$f(x,k,t) = \sum_{i=1}^{\infty} R_i(x,k)t^i = R_1(x,k)t + R_2(x,k)t^2 + \sum_{i=3}^{\infty} R_i(x,k)t^i$$

$$= R_1(x,k)t + R_2(x,k)t^2 + \sum_{i=3}^{\infty} (2xR_{i-1}(x,k) + kR_{i-3}(x,k))t^i$$

$$= R_1(x,k)t + R_2(x,k)t^2 + 2x\sum_{i=3}^{\infty} R_{i-1}(x,k)t^i + k\sum_{i=3}^{\infty} R_{i-3}(x,k)t^i$$

$$= t + 2xt^2 + 2xt\left(\sum_{i=1}^{\infty} R_i(x,k)t^i - R_1(x,k)t\right) + kt^3\left(\sum_{i=1}^{\infty} R_i(x,k)t^i - R_0(x,k)\right).$$

Therefore,

$$f(x, k, t) = t + 2xtf(x, k, t) + kt^3f(x, k, t)$$

which is equivalent to

$$f(x,k,t)\left(1-2xt-kt^3\right) = t,$$

and then the generating function of $\{R_i(x,k)\}$ can be written as

$$f(x,k,t) = \frac{t}{1 - 2xt - kt^3},$$

as required.

2. Similarly, we can show the generating functions of $\{r_i(x,k)\}$ by taking account into (11) and the values of $r_1(x,k)$, $r_2(x,k)$.

In what follows, we present the summation formulae related to these polynomial sequences and standard techniques are used to generate them.

Proposition 6. For any positive real number k and natural numbers n, j, if $\{R_j(x,k)\}$ and $\{r_j(x,k)\}$ are the jth term of the Rising Diagonal polynomials for the k-Pell and k-Pell-Lucas polynomials, then for $(2x + k - 1 \neq 0, x \neq 0)$, the following identities are valid:

1.
$$\sum_{j=0}^{n} R_j(x,k) = \frac{R_{n+1}(x,k) + k (R_{n-1}(x,k) + R_n(x,k)) - 1}{2x + k - 1},$$

2.
$$\sum_{j=0}^{n} r_j(x,k) = \frac{r_{n+1}(x,k) + k (r_{n-1}(x,k) + r_n(x,k)) + 2(x-1)}{2x + k - 1},$$

3.
$$\sum_{j=0}^{n} (R_j(x,k) + r_j(x,k))$$

$$= \left(\frac{(3-2x)(R_{n+1}(x,k) + k(R_{n-1}(x,k) + R_n(x,k)) - 1)}{2x + k - 1}\right) + 2R_{n+1}(x,k).$$

Proof. 1. We have

$$R_{0}(x,k) = 0, R_{3}(x,k) = \frac{1}{2x} (R_{4}(x,k) - kR_{1}(x,k)),$$

$$R_{1}(x,k) = 1, \vdots$$

$$R_{2}(x,k) = \frac{1}{2x} R_{3}(x,k), R_{n}(x,k) = \frac{1}{2x} (R_{n+1}(x,k) - kR_{n-2}(x,k))$$

by the use of (12), and then

$$R_0(x,k) + R_1(x,k) + R_2(x,k) + R_3(x,k) + \dots + R_n(x,k)$$

$$= R_0(x,k) + R_1(x,k) + \frac{1}{2x}R_3(x,k) + \frac{1}{2x}(R_4(x,k) - kR_1(x,k)) + \dots$$

$$+ \frac{1}{2x}(R_{n+1}(x,k) - kR_{n-2}(x,k)).$$

Hence

$$2x\sum_{j=0}^{n} R_j(x,k) = 2xR_0(x,k) + 2xR_1(x,k) + \sum_{j=0}^{n} R_j(x,k) + R_{n+1}(x,k) - R_0(x,k) - R_1(x,k) - R_2(x,k) - k\sum_{j=0}^{n} R_j(x,k) + kR_{n-1}(x,k) + kR_n(x,k).$$

Using the values of the first three elements of the sequence $\{R_j(x,k)\}$, we obtain

$$(2x+k-1)\sum_{j=0}^{n} R_j(x,k) = R_{n+1}(x,k) - 1 + kR_{n-1}(x,k) + kR_n(x,k),$$

which is equivalent to the required result.

- 2. In a similar way, we show the summation formula for the sequence $\{r_j(x,k)\}$.
- 3. By the identities (10) and (12), and the value of initial conditions, we have

$$\sum_{j=0}^{n} (R_{j}(x,k) + r_{j}(x,k)) = \sum_{j=0}^{n} (R_{j}(x,k) + R_{j+1}(x,k) + kR_{j-2}(x,k))$$

$$= \sum_{j=0}^{n} (R_{j}(x,k) + R_{j+1}(x,k) + (R_{j+1}(x,k) - 2xR_{j}(x,k)))$$

$$= (1 - 2x) \sum_{j=0}^{n} R_{j}(x,k) + 2 \sum_{j=0}^{n} R_{j+1}(x,k)$$

$$= (1 - 2x) \sum_{j=0}^{n} R_{j}(x,k) + 2 \sum_{j=0}^{n} R_{j}(x,k) - 2R_{0}(x,k) + 2R_{n+1}(x,k)$$

$$= (3 - 2x) \sum_{j=0}^{n} R_{j}(x,k) + 2R_{n+1}(x,k).$$

Now, the use of the identity 1. gives the required result.

4. Descending Diagonal function for the k-Pell and k-Pell-Lucas polynomials

In this section, we present the Descending Diagonal function for the k-Pell and k-Pell- -Lucas polynomials and some properties are provided.

Consider the Descending Diagonal functions $D_i(x, k)$ and $d_i(x, k)$, $0 \le i$, for k-Pell and k-Pell-Lucas polynomials, respectively, stated in Table 4.

n	$D_n(x,k)$	$d_n(x,k)$
n = 0	0	2
n=1	1	2x+k
n=2	2x+k	(2x+k)(2x+2k)
n=3	$(2x+k)^2$	$(2x+k)^2(2x+2k)$
n=4	$(2x+k)^3$	$(2x+k)^3(2x+2k)$
n=5	$(2x+k)^4$	$(2x+k)^4(2x+2k)$
n=6	$(2x+k)^5$	$(2x+k)^5(2x+2k)$
n=7	$(2x+k)^6$	$(2x+k)^6(2x+2k)$

Table 4. The Descending Diagonal functions for the k-Pell and k-Pell-Lucas polynomials for $0 \le n \le 7$.

Observe that in Table 4, for $n \geq 2$,

(15)
$$D_n(x,k) = (2x+k)D_{n-1}(x,k),$$

(16)
$$d_n(x,k) = (2x+k)d_{n-1}(x,k),$$

(17)
$$d_n(x,k) = (2x+2k)D_n(x,k),$$

(18)
$$\frac{D_n(x,k)}{D_{n-1}(x,k)} = \frac{d_n(x,k)}{d_{n-1}(x,k)} = 2x + k,$$

(19)
$$\frac{d_n(x,k)}{D_n(x,k)} = 2x + 2k.$$

Let

(20)
$$h(x, k, t) = \sum_{i=1}^{\infty} D_i(x, k)t^i$$

and

(21)
$$l(x,k,t) = \sum_{i=1}^{\infty} d_i(x,k)t^i$$

be the generating functions for the Descending Diagonal polynomials for the k-Pell and k-Pell-Lucas polynomials, respectively.

Theorem 4.1. The generating functions for the Descending Diagonal polynomials $\{D_i(x,k)\}$ and $\{d_i(x,k)\}$ are

mials
$$\{D_i(x,k)\}$$
 and $\{d_i(x,k)\}$ are
1. $h(x,k,t) = \frac{t}{1-2xt-kt}$,

2.
$$l(x,k,t) = \frac{(2x+k)t}{1-2xt-kt}$$
, respectively.

Proof. 1. For the $\{D_i(x,k)\}$ sequences, by taking into account (15) and the value of $D_1(x,k)$, we have

$$h(x,k,t) = \sum_{i=1}^{\infty} D_i(x,k)t^i = D_1(x,k)t + \sum_{i=2}^{\infty} D_i(x,k)t^i$$

$$= D_1(x,k)t + \sum_{i=2}^{\infty} ((2x+k)D_{i-1}(x,k))t^i$$

$$= D_1(x,k)t + (2x+k)t\sum_{i=2}^{\infty} D_{i-1}(x,k)t^{i-1}$$

$$= t + (2x+k)t\left(\sum_{i=2}^{\infty} D_i(x,k)t^i - 1\right).$$

Therefore,

$$h(x,k,t) = t + (2x+k)th(x,k,t)$$

which is equivalent to

$$h(x,k,t)\left(1-2xt-kt\right) = t,$$

and then the generating function of $\{D_i(x,k)\}$ can be written as

$$h(x,k,t) = \frac{t}{1 - 2xt - kt},$$

as required.

2. Similarly, we can show the generating functions of $\{d_i(x,k)\}$ by taking into account (16) and the value of $d_1(x,k)$.

Next, we present the summation formulae related to these polynomial sequences and we use the identities (15) and (16) in the proof.

Proposition 7. For any positive real number k and natural numbers n, j, if $\{D_j(x,k)\}$ and $\{d_j(x,k)\}$ are the jth term of the Descending Diagonal polynomials for the k-Pell and k-Pell-Lucas polynomials, then for $(1-2x-k\neq 0, x\neq 0)$, the following identities are valid:

1.
$$\sum_{j=0}^{n} D_j(x,k) = \frac{1 - D_{n+1}(x,k)}{1 - 2x - k},$$

2.
$$\sum_{j=0}^{n} d_j(x,k) = \frac{2 - (2x+k) - d_{n+1}(x,k)}{1 - 2x - k},$$

3.
$$\sum_{j=0}^{n} \left(D_j(x,k) + d_j(x,k) \right) = \left(2x + 2k + 1 \right) \left(\frac{1 - D_{n+1}(x,k)}{1 - 2x - k} \right).$$

Proof. 1. We have

$$D_0(x,k) = 0,$$
 $D_3(x,k) = (2x+k)D_2(x,k),$ $D_1(x,k) = 1,$ \vdots

$$D_2(x,k) = (2x+k)D_1(x,k),$$
 $D_n(x,k) = (2x+k)D_{n-1}(x,k)$

by the use of (15), and then

$$D_0(x,k) + D_1(x,k) + D_2(x,k) + D_3(x,k) + \dots + D_n(x,k)$$

= 0 + 1 + (2x + k)D₁(x,k) + (2x + k)D₂(x,k) + \dots + (2x + k)D_{n-1}(x,k).

Hence

$$\sum_{i=0}^{n} D_j(x,k) = 1 + (2x+k) \sum_{i=0}^{n} D_j(x,k) - (2x+k)D_n(x,k).$$

So, performing some calculations and using (15), we get the required result.

- 2. Using a similar way, we show the summation formula for the sequence $\{d_i(x,k)\}$.
- 3. By the identity (17), we have

$$\sum_{j=0}^{n} (D_j(x,k) + d_j(x,k)) = \sum_{j=0}^{n} (D_j(x,k) + (2x+2k)D_j(x,k))$$
$$= (2x+2k+1)\sum_{j=0}^{n} D_j(x,k).$$

Now the use of identity 1. is sufficient to obtain the desired result.

5. Conclusions

Sequences of polynomials have been studied for several years, with emphasis on the well known Fibonacci polynomial sequence, and consequently, on the Lucas polynomial sequence. In this paper, we have also contributed to the study of k-Pell and k-Pell-Lucas polynomial sequences and the respective Rising and Descending Diagonal functions. We have deduced some formulae for the sums of such sequences of polynomials, presenting the generating functions, the Binet formula and some identities. Our intention is to continue the study of this type of sequences, exploring the several types of its generating matrices.

Acknowledgment. The author would like to thank the referees for their constructive criticism, for pertinent comments and valuable suggestions, which significantly improved the manuscript. Also, this research was financed by Portuguese

Funds through FCT – Fundação para a Ciência e a Tecnologia, within the Strategic Projects UID/MAT/00013/2013 and UID/CED/00194/2013.

References

- Arolkar S. and Valaulikar Y. S., h(x)-B-Tribonacci and h(x)-B-Tri Lucas Polynomials, Kyungpook Mathematical Journal, 56(4) (2016), 1125–1133.
- Bicknell N., A primer on the Pell sequence and related sequence, Fibonacci Quart. 13(4) (1975), 345–349.
- **3.** Catarino P., On some identities and generating functions for k-Pell numbers, Int. Journal of Math. Analysis **7(38)** (2013), 1877–1884.
- Catarino P., A Note Involving Two-by-Two Matrices of the k-Pell and k-Pell-Lucas Sequences, Int. Math. Forum 8(32) (2013), 1561–1568.
- 5. Catarino P. and Vasco P., On Some Identities and Generating Functions for k-Pell-Lucas Sequence, Applied Mathematical Sciences 7(98) (2013), 4867–4873.
- Dasdemir A., On the Pell, Pell-Lucas and Modified Pell Numbers by Matrix Method, Applied Mathematical Sciences 5(64) (2011), 3173–3181.
- Deveci O. and Saraçoğlu E. E., On The Pell Polynomials and The Pell Sequences in Groups, Chiang Mai J. Sci. 43(1) (2016), 247–256.
- 8. Ercolano J., Matrix generators of Pell sequences, Fibonacci Quart. 17(1) (1979), 71-77.
- 9. Gupta Y. K., Badshah V. H., Singh M. and Sisodiya K., Diagonal Function of k-Lucas Polynomials, Turkish Journal of Analysis and Number Theory 3(2) (2015), 49–52.
- Halici S., Some sums formulae for products of terms of Pell, Pell-Lucas and Modified Pell sequences, SAÜ. Fen Bilimleri Dergisi 15(2) (2011), 151–155.
- 11. Hogatt V. E., Fibonacci and Lucas numbers, Houshton Mifflin Company, Borton, 1965.
- 12. Horadam A. F., Pell identities, Fibonacci Quart. 9(3) (1971), 245–252, 263.
- Horadam A. F. and Mahon B. J. M., Pell and Pell-Lucas polynomials, Fibonacci Quart. 23
 (1985), 7–20.
- **14.** Lee G. and Asci M., Some Properties of the (p,q)-Fibonacci and (p,q)-Lucas Polynomials, Journal of Applied Mathematics **2012** (2012), Article ID 264842, 18 pages.
- Koshy T., Pell and Pell-Lucas Numbers with Applications, Springer Science+Business Media: New York, 2014.
- Koshy T., Fibonacci, Lucas, and Pell numbers, and Pascals triangle, Mathematical Spectrum 43(3) (2011), 125–132.
- 17. Vasco P. and Catarino P., Sums and products involving terms of k-Pell, k-Pell-Lucas and Modified k-Pell sequences, JP Journal of Algebra, Number Theory and Applications 32(2) (2014), 87–98.
- 18. Vasco P., Catarino P., Campos H., Aires A. P. and Borges A., k-Pell, k-Pell-Lucas and Modified k-Pell Numbers: Some Identities and Norms of Hankel Matrices, International Journal of Mathematical Analysis 9(1) (2015), 31–37.
- P. Catarino, Department of Mathematics, University of Trás-os-Montes e Alto Douro, UTAD, current address: Quinta de Prados 5001-801, Vila Real, Portugal, e-mail: pcatarin@utad.pt, http://www.utad.pt